[ Efficiency vs vertpos |
- 05

Ratio
P
N

+|

1072 10 1 10 0?
TP vertr (cr%)

MKEIT_T1base
mkFit5_TT_retrainOldFiles125_v2_prelimWP_epoch4
mkFit_TT_baseline_6iter

mkFit6_TT retrainOldFiles125 v2 prelimWP_epoch2 wSQCD

<4

DQ
DQ
Efficiend —— B3

~n 0.2

R (£ (S S [ S
» o : : : : :
UL B R | IRI SRS
> r : : : : :
2 F : : : : :
A S I S
S F : : : :
O SRR SR
o E : : : :
O S HEURI S |
0.08F--- """"
0.06F------ : ;

0.04F -+ cbe et

0.02F-+-+--te-e- } pe Rl :
ST v L L2 % T
o OF : T : :
o IR R 11
x [ : : ;
L 4
0.9 -----=r---- 148
°835 =20 -10 0 10 20 30

TP vert z (cm)

[ Efficiency vs. sim PV z |
~n 0.2
>

Q. 0.18f
c o
7 0.16

£0.14F
& o
c0.12

e
o o . . . . . . .
e O e s S S A
@ r . . . . . . .
O e S S
Y O e

004 i

Fa
IEEE = 5 ot

Ratio

0 =15 =10 -5 0 5 10 15 20
Sim. PV z (cm)




	Contents
	Page 1


